oo = == == ==[1[]

0000000000 0000020130000000000
0oO@oooon)

goo:

000 : 2013/12/23 18:01:05

oog

OO0 0O000000001020120190000 000 0102319882000 0000

OO0 OOooooooog

(0) 0001020120210 000000220000000270000000

(0) 0DO00000OO0O00U00DO0000oOo0U0O0O0ooO00O0ooOo0oooOoooooOog
parantica3901@gmail.com O O O 02-238194060]

(0) 0oOOoooooooooogi,coo00booo0nooooooonoooooooooonog
O00000-—-000000oogooooogo

(0) 0OOO0O0DbOoDOO0oDO0oO0oOO0oOoDbOOoO0bOOoDOoOobOOoOobOooDbOon

00 0ODO00000oooOoOb00oodoooboobboooooonnDhOo2d 2311304000 39010
o0 oooboobootuoodoboouooouooooboood

O http://ww3.inservice.edu.tw/O0 000000 DOODOOODOOODOOODOOOO

http://163.30.202.2 2024/5/5 14:35:18 - 1


mailto:parantica3901@gmail.com
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

